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16| AR L5 [EmEY LSS (BRR) TS (S@EM1E) [02 8852 T=E | 2013/10/02 29,578,500 29,400,000{ 99.39 [\NEFEZ () |01 .BR 1
MEEREEEX TN Eﬂﬁﬁuota 1f*(i1ﬂ¢$)l$(€'§%€> ol —fg+AT=| 2013/10/02 9,052,050 8,925,000( 9859 [EHERTE () |01.BR 1
18| BB EHi [EFEABRARET TG 02 %52 T= | 2013/10/03 25,242,000 22,204,875 87.96 [Z AEHGE) 01.BMA 6
19| B BT [ERBYLSBREE H)I$(E&E£ﬁ“ ot —#g+AT=| 2013/10/03 29,959,650 29,400,000 98.13 |=&£HE (%) |01.BA 1
20| & E R ERT [BREY LSS R TS exm) [isEEgsTE] 2013/10/03 7,652,400 7,560,000 98.79 |[BEREBRIE ) [01 BERW 2
21| zEsspsenm B ZHBEETETE B o1 —fg+AT=| 2013/10/03 13,461,000 13,387,500| 99.45 [AET X (#R) |01 BN 1
22|z EssEREEF [ME YR RIEEGtR) T2 (BHET) o BEEWIT=E] 2013/10/03 4,641,000 4,326,000] 9321 [ mrERE—E2[01 BA 1
23| B PR B TR [smmvonnom s cman musms sunssesares |10 AEAMETE|  2013/10/04 19,942,650 17,649,450] 88.50 [masmtrzan muxswm|01 &N 2
20| BN EKREFHFR [EFEBREANETE FREBEHILNE) [01 —®EKTE| 2013/10/04 4,707,150 4355400 92.52 |(#%)BE A% 01L.EMA 3
25| BRI R EFAT [EREY LSMEBCEH) TE(SEw15)|02 883 TXE | 2013/10/04 7,502,250 6,737,955| 89.81 |#hFEEER T % (#f) [o2 mizam 4
26| EE R T REFEAT EREY LS B 4 TECEEWE) [13HETSE [ 2013/10/04 13,789,650 12,579,000 91.22 [amerkmson asaznm |04 B 5L 2
27 E R T AREFEFT | OKYRHIEHE (T R) TE (8 [09 BIETH 2013/10/04 4,686,150 4161,885| 88.81 [ ur~razessm (o2 izasm 7
28|EM T AREH [AICBE#IBFSETE MR o —®+KTE| 2013/10/07 12,264,000 12,075,000 98.45 |AFEEZGEE) 01.BA 1
V| REETAREHE [EREYLOSEFEEEE)ISCER) |10 s@nETE| 2013/10/08 28,317,450 27,195,000 96.03 |#R)IXT4—IR|01.ERA 2
30| R iR SR R FEA [mmimyaonmom) TH BT LARR_ BH TSN EREN) 10,9&@&;21% 2013/10/08 12,373,200 11,001,900 88.91 [essrrzwmmuzzn]|01 B R 8
SIMIE LT ARER [EFERREXRETIZEDS>—HE) |09 FETE | 2013/10/08 5,786,550 5124,840| 8856 [ItHASA> (%) [03 BER 10
R L EEREEM (A TEARREARETIE ERKE) o —w+KRT=| 2013/10/08 8,545,950 8,400,000] 98.29 |[&FHEHB[T X ) [01 BW 1
33| E R EFERT [reecurrsmmememumrnmen sunmzsmmssmseemm) 03_E§I$ 2013/10/09 4,899,300 4515000| 92.15 |5 B T3 () 01 &A 3
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A|WvhERREFRT EREYOSEB(EE) IEWER L) lorrcistisTE| 2013/10/09] 466,128,000 416,971,800 89.45 [(#k) F—T X =204 1B 4} 9
35|LVvhEERERA [EREYLSBE(EE) TS ERHR) [0 —g+xT=E]| 2013/10/09 27,835,500 26,355,000 94.68 | (#R) KJI[RiEE% |01 EA 3
6|RET REFHA | EBRBYLOSERGEH TE@EREE) |0 —wtRTE[ 2013/10/10 13,860,000 13,545,000] 97.72 |(#%)FI4E 1158 01BN 1
NN =FIAREHKM |EFEREREREISE (BREILIE) [0 —#+ARKIE[ 2013/10/10 11,741,100 10,531,500] 89.69 |(¥k)AH T % 01 &R 1
B|=F T AREFHERT ERBY LS (K TECGERKHE) ot —g+AT=E| 2013/10/10 5,515,650 5,250,000 95.18 |(#R)iE D% 01BN 1
| =FLTAREHEM [EEEYLSEREE) ITEKEHR) [10FEMEIE| 2013/10/10 3,881,850 3,503,850| 90.26 [ —#F{L T E(#%)|03 BN 6
OB T EAREFHE [PSLLVEDOCYHAHATE CHET)|02 HETE 2013/10/11 9,120,300 8,295.000] 90.95 [EAREBEITZEMW) |01 BRN 3
MILOTKREFHFF ERBYLSER EE) IEFWERT) osmnEss| 2013/10/11 8,248,800 7.384.650] 8952 |s—mtrxmmmarxs |01 & A 2
42| B A iREREFEAT MEREY SOSBEIH T BB - &) (o1 — g+ AxT=E| 2013/10/15 29,032,500 27,615,000 95.11 [&H L+ KE) 01 BN 3
43| B h IR R EFER |semvonncn s =aanam surssr=wawnn |02 ZHEE T 2013/10/15 26,296,200 22,901,550 87.09 [ (#k)5 H4H 01 &N 3
M| EZFEEEREREY SBE(FEE) T2 CERNE) [0t —tATE| 2013/10/15 17,019,450 15,131,760| 88.90 [#iREEZ (%) |01 BHN 4
45| AR E TSP LREHI%E&%(/J\;ﬂ%&ﬁ%ﬂ)I% 033 5ET=E | 2013/10/15 27,256,950 26,250,000] 96.30 [/NEFERER (:5\) 01 &R 4
46| IR EFRFT (eamteE SR/ MIBESRESNE (03 BETE 2013/10/15 23,032,800 22,890,000 99.38 |##ILER (Bk) |01 BN 3
47| B EREHA |EEdEREIZ(WTHER) [4BREMIE| 2013/10/16 22,123,500 20,895,000 94.44 |#)‘BraE % 01 EW 2
AB| B =S PERBY SSBBE )T E R BHE)[01 — @t ATE]| 2013/10/16 27,534,150 27,090,000] 98.38 [EHIT X () [01 BW 2
19[HiE T AEHRIT [EREYLOSERGH) IS @EEE) 02 % T= | 2013/10/16 20,721,750 18,287,850| 88.25 |(#p)IRiZsER |03 BN 4
50| a7 [BRRAEY £S5 BE ) TE(ELEEE) o —+AxT=E] 2013/10/16 8,002,050 7,717,500 96.44 | () {&kiEER 01BN 1
S51[ILA T AREFERT DEBEY LS (1) THE GHREA1E) |02 2R TE 2013/10/16 17,825,850 17,745,000] 99.54 | () $EE TP [01 B 1
52|EZ A B RBHAT M OKYR ﬁﬁﬁ(i—n)l$($ﬁ"5iﬁ) 0l —#+AT=E| 2013/10/17 29,102,850 25,617,900[ 88.02 |(3) &EEE [01.BKW 7
53R R RERA EBRBY OSBMOhE) TEEET) |02 48R TE 2013/10/17 24,181,500 21,445200| 88.68 |EFER (¥K) 03 2R 2
54| ILO X REFEFT [EBRBYLSIEBRE (X 1‘JL)I$(I§57KI) 01 —#g+tAT=| 2013/10/18 9,389,100 9,345,000 99.53 [(#k) B t4 01BN 1
55| AR R EFSAR [EIRBEY SO BEEE) TECGEm) [ozmnETss]| 2013/10/18 14,028,000 12,495,105 89.07 [ AR (#%%) |03 B 7
56| L\ =R E AT HERIEY SO BE (E) TECGERHE) [0 —+AT=| 2013/10/18 25,735,500 22,816,500 88.65 (EEI TR (¥k) |01.BA 1
S57|sEEnEREnm | A FERRERETI S GERHE) o —®+tKT=E| 2013/10/21 4,096,050 3,916,500 95.61 |(#R) LET AT |01 .ERA 1
58|aEEmERERT )| GEFE) TS 0o —ftAT=E|[ 2013/10/21 12,275,550 11,235,000] 9152 [fEAREZTE G [01 BN 3
59| AMEBEEIEFT [ERBYLOSHE (XK) TERHEM) [0 —g+AxT=E]| 2013/10/21 3,466,050 3,192,000( 92.09 [EHERTE ) [01.BR 1
60[L VO SRR (W (M (BE))IECEET) o EEMETE| 2013/10/21 21,346,500 21,315,000] 99.85 [(#) #EDNTFvo 2|01 BER 1
61|EE T REFFR EHREYLSHE B TE GHEMT) o zmmETE| 2013/10/21 19,971,000 17,578,050] 88.01 |SRVIBIEERR (%) o2 mizaam 3
62|szEnEREsm |EEFEEET E (MERE) 04 BREWIE| 2013/10/22 3,013,500 2,982,000 98.95 |BREHRI X |01.EA 1
63|78 )| T RKEFEFR [emmvonsgmnzsaenimrsmnsssnn mummenn |02 EH%EE T 2R 2013/10/23 10,837,050 9,560,040 88.21 |BHEE FEE X (%) 01 &N 5
64| EFERERA |EEXRETEIFECR TMIE) |omsessgnts [ 2013/10/23 5,138,700 4,830,000f 93.99 |FERIEIERD|01LEAN 2
HEEEEET T %ﬁﬁ’ﬁ&%ﬁl%(,ﬁﬁﬂmm 033 5ET=E | 2013/10/23 6,355,650 6,300,000] 99.12 EAEHZ#) [01. BN 1
66| ELHERSHA|EFEBRERET S HEKE) |0 —#+AT=E[ 2013/10/23 12,903,450 11,966,850| 92.74 |(F)I)IIEEER[01 ERA 6
67|\ EERFEHRM @Bﬁ(xﬁ(ﬁﬁ))l%(&ﬁl) 10 E@mNETSE| 2013/10/23 22,932,000 21,525,000 93.86 | (#%) &2 01.EWN 3
68| B chiREREFEA [umnvosnacem xomun misios miasmmsruczzmem (01 —f+ RTE | 2013/10/24 19,007,100 17,486,175] 91.99 | (¥k)taEEEx |01 BEW 3
69|F Il T REFEFT Eﬂ@#ﬂ);o%r( ﬁ)I%(aﬁzaﬁﬁ )[or —#g+AxT=E| 2013/10/24 29,826,300 28,082,670 94.15 (BMR)EBEH 01 B 2
O|WHhEEAEFA(ETERRERETIETGEST) [0 —®ERKTE| 2013/10/24 10,283,700 10,185,000] 99.04 |EH22EHFE (%) [01 BERA 1
T \E R R EFERT [emmvesesme oo @mmsm anse summemsaes |09 I TEHE | 2013/10/28 4,800,600 4,410,000 91.86 |(#%) ERILZEE |01 B 2
2| HiE T AREBFFT EBREYLSBE G TE(SEMAE) 02 R TE | 2013/10/28 18,990,300 16,719,150] 88.04 | (¥k)IBtEs %Y |03 IEW 2
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73|RemmTokErgEnF R TKEIE (—H]REXR) o1 —figtAT=| 2013/10/28 3,683,400 3,675,000( 99.77 [#AUEZ () |01 ERN 1
74| s TokEmgEnn | Fiis T KE TE (B ) 14 #WSEBISE| 2013/10/28 6,427,050 6,009,150] 93.49 |[=REI (%) [01 &KW 2
I5|£2ENEREEM ([ BEEXEEE TS (FEER) 03 BETE 2013/10/29 7,163,100 6,485,850] 90.54 | AR#+EE% (#k) 01 &N 4
76|22 ERERERT [ EREYOSOHE (E) ITEGERE) [02 ET= | 2013/10/29 20,928,600 19,012,350 90.84 | (¥k) B HEE |01 BN 6
TIWHEEREEM | EFEABRRSRETEGEFET) (o —#+ATE| 2013/10/29 11,602,500 11,550,000] 99.54 | (%) mntFngE  [01 BN 1
78| BB FERA [(EREYOBEMEIEGEE) [0t —#+ATE| 2013/10/30 26,302,500 26,250,000( 99.80 |AEEZRITEXH#)|01.ERA 1
19 =F L KEHF Eﬂ%ﬁ‘)m%ﬁ%(%&ﬁﬂ)l$(*ﬁ i) (02 SRIET 2013/10/30 15,000,300 13,625,850] 90.83 |E T ¥ (#%) 01 &M 2
80|=:ZEMERTHA W (BH) TE (2 ftERHh) 01 —fg+AT=| 2013/10/30 16,545,900 15,120,000] 91.38 [ (#) ALFE TFFr |01 B A 1
81| eEEnERERm IR IFEFHFT) 01 —fg+AT=E| 2013/10/30 7,554,750 7,245,000] 95.89 | (#k) FLETFFr |01 B X 1
82|E % AR BRFFA Mg D<KV HRRAE (3 4) T (&) (02 g8 T= [ 2013/10/30 15,859,200 14,399,700] 90.79 [mmeEs k) 22xE (01 BN 6
83| =EL FERERH | ERIBYOBHE () TECEHE) [13HEETE 2013/10/30 29,698,200 28,770,000/ 96.87 awmmﬁsews%#ﬁﬁ 04_E 4} 1
BA|IRE T AEEAT [EBRBYOSBEBEEE)ITECEAE)| o1 —g+AxT=E]| 2013/10/31 27,861,750 27,615,000( 99.11 [ KiBMETIT E®H#)|01.BERN 2
85|\ =B R AT [ ERBY SOBE () TEGHFET) [o1 —#+kTHE| 2013/10/31 23,289,000 22,995,000/ 98.73 E’EI%(H) 01 &M 2
86|=F T REFAT [EREYLOSEE (EE ITECKEHR) o —B+tKTE[ 2013/11/05 25,571,700 23,625,000 92.38 | T E(#E) 01 &M 2
87| BIIEAREFA I (X 4F) T (HERE) o1 —fgtAT=E| 2013/11/05 18,634,350 18,154,500] 97.42 |(#k)EE HIRER 01 &R 3
88| AT AREFHK [EFERBRERETIE ERKE) o —w+ARTHE| 2013/11/05 11,103,750 10,605,000 95.50 [(3R)f2RE 2% 01 &R 2
OIETEIARER [EFEBRERETIETHKI) |or—m+KT=E| 2013/11/05 4,186,350 4112,850] 98.24 %LEEL (&) |01 BW 1
90| Bk EBE=FERr [ERBY OB ) IE (KRR) o —w+tAT=E| 2013/11/07 27,804,000 26,145,000 94.03 [FRIEEZ (¥K) 01 &N 2
| EJEEREHA BB (T (FE)IECERE) 1 x@muETE| 2013/11/11 29,662,500 29,085,000] 98.05 (HHFJHE]’IT%F‘E 01 &R 1
92 I.,.EFIL‘Q%Tipﬁ LSS (TR TH ST UNsaLss Bussammaess] 01 —iR + K T3 2013/11/11 15,143,100 14,700,000{ 97.07 EE-E_-,]@L'“'(*;H 01_%|7q 1
93| B EAREFERT LA (33 44) T (HRERE) 01 —figtAT=| 2013/11/11 20,808,900 20,475,000 98.39 |(#p)tBEEE 01 &N 3
MA=F T ARER [EBEY O (RE) TE@EEE) (02 % TE | 2013/11/12 6,714,750 6,709,500] 99.92 [(¥k)E B #H 01 &R 1
o5|aEEnEREREN A EEBRAWNETE EH) 0ol —fgrAT=E[ 2013/11/12 9,812,250 9,149,280 93.24 | (4%) AL F54H 01 &R 5
06| REEMERSEM IBFE#HEESEIE (EX) 01 —fg+tAT=| 2013/11/12 13,032,600 12,285,000] 94.26 | (#) ALFE TGP [01 B 1
o7|&EEnENERR [EREBYLOSBBME) TEE@ED) 02 %% T= | 2013/11/12 17,444,700 15,885,450] 91.06 (TJIEBTZ ) |01 BR 8
BlIEETEEHA [ZEMBEET S 12H) 09 FETZE | 2013/11/12 4,805,850 4552800| 94.73 [ILtHASA k) [01 BA 2
9|EM T AEIEFT [EBEYLSBRE G TEEHEMHE) (02 R TS 2013/11/12 13,261,500 13,126,575] 98.98 [#)Ur A1 vbhEXE |02 BigaEm 4
100[ B2 =7 [REEFEEBITE (fhK) 033 5ET=E | 2013/11/13 7,392,000 7,035,000 95.17 | (#R) BRLLZREE o2 BssEsEm 2
101 %E:EE&%%FE R EUE T (K- B 30) (X EMMseS M MUmAMErFRELnN] |05 IEAERERETS 2013/11/13 4,680,900 4.462,500| 95.33 (ﬁ)j*i:E% 01_%|7§| 1
102 B R EFEER |ruecssrs@emkcomicenme mussamscenen) |03 ZRETH 2013/11/13 4,326,000 4,200,000 97.08 | (#k) BRLLZEE 01 &N 2
103G B [EEABRRSWET E (EREH) 4 ESEMHBTE| 2013/11/13 3,206,700 3,045,000 94.95 |[JEEER T X (%) |01.ERA 1
104|2eEngRE=H%m [(HXEBERIE (BEHK) 03EFETE 2013/11/14 5,132,400 4,746,000 9247 [FHREZTZX R [01LEA 1
105| RS R RIS | EBRIBY L5 (KB TECEREXE) o xmuETE| 2013/11/14 21,630,000 19,614,000] 90.67 |&:F:&m (¥k) 01LEN 5
106| LV =R S ERETE (BA1 ~4KKE) [swssesanzs | 2013/11/14 13,261,500 12,489,750] 94.18 |(%k) KET%7Fr [01 R 1
107|EEEAREH |EFEBRRERETECEM) 10 EEMEIE] 2013/11/14 5,913,600 5,880,000 99.43 |(#R)LLU—#x{L £ K|o2 BsszaEm 1
108| B =% [IBErRE@ER)THEGER) [0 —MtARTE| 2013/11/15 16,072,350 15,750,000 97.99 [ (4%) LLA#A 01.EWN 3
109| B AR5 AN (HhiE) T (BE1R) ol —fgtATE|] 2013/11/18 11,476,500 11,025,000] 96.06 | (#k) EAJIESE |01 BN 1
1M0|/REEXREHEA A FEREERETSE (AIE) 01l —#+AT=| 2013/11/18 12,432,000 12,180,000 97.97 [ (4k) smE&E#A 01.EWN 2
TN EEESEE BEEFERETE(TKEES) |cmsmnszmzs | 2013/11/18 8,500,800 8,400,000{ 98.81 [ILAZEITE (%) |01 BR 1
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1121 B E R T AREIF EBRIBY LOSHE R TECHEHAE) 13 HETE 2013/11/18 6,013,350 5,806,500] 96.56 | imzapmEnam|04 B 4} 2
13| EMEARFEFHE ERBYLOER (X §)I$(Bﬁ #HH) o1 —figtAT=| 2013/11/18 6,720,000 6,615000( 9843 |[(#p) R+ ILEE |01 ERN 1
14| EFEEEEM [IBERRECE)TIEGE ol —fgtAT=[ 2013/11/19 11,688,600 11,088,000 94.86 [J£iER (%) 01BN 2
115|sgEnggsEsm I (RN IEGFEFT) o1 —fg+AT=| 2013/11/19 7,674,450 7,121,100] 92.78 | (#k) #1L#H 01 &BH 2
116| = £ H BB EHT [ERIBY £S5 OhE) TE GHAEM) 01 —gtATE]| 2013/11/19 19,236,000 17.797,500] 9252 [mEzm Ess=%m (01 BN 7
1M7|WbhEBSERm | A FERREARETSE KIRT) |loo—mwtAT=xE| 2013/11/19 3,856,650 3,832,500 99.37 | (#%) EEp4H 01 BN 1
118 Eh @R EFRAT |reccentsaans s smen sunszrasm |03 2ot L3 | 2013/11/20 3,414,600 3,255,000[ 95.32 () ZILIFFIE [01.BR 2
119|=F T AEIEFT EBREBEYOSH B (BB TE(KER) (00 FETE 2013/11/20 4,905,600 4,857,300 99.01 [ IRZLE 01 &N 11
120| £EENEREHH [EBEY LB (X)) TEGHERS) (02 SHE TS 2013/11/20 22,069,950 19,980,450 90.53 [iT)IIEEE T ¥ (%) |01 B X 11
1I2|EBTFEARERT PAICBE#HEFEEIE(ESRT) (o —8+ARTE| 2013/11/20 15,453,900 15,256,500] 98.72 |&F# % (#) 01 &N 1
12| ETFEARER |EFEBRENETS BEET) |0 —M@EtATE| 2013/11/20 18,223,800 17,850,000] 97.94 |[IL+3EEZ#E) [0 ERA 1
123|@EEESERm (RN IEGERT) 01 —fg+AT=| 2013/11/20 13,387,500 13,335,000] 99.60 |(#k)#5AKEER  [01.ERA 1
124|FLEELERH|EEERRARETEJEETD) oo —mwtxT=| 2013/11/23 5,075,700 5,040,000{ 99.29 [E&E AT X () [01.BR 1
125(=F X REHE [EBRBEYLSBRE M) TEEGERE) (02 HETE 2013/11/25 4,944 450 4.830,000] 97.68 (*%)*P_Flj:}_ 01 &M 1
126| =F T KEHFAT [EBRBYLSE 1?*(&1#)1%(#5%*#!*) 02 SHIEETE 2013/11/26 9,444,750 9,397,500 99.49 | = A T E(¥k) 01BN 2
127|&zEnggssm | EAESERTIE (BRESE 09 FBHETE 2013/11/26 3,783,150 3,535,350 93.44 (bk)kmn K Jo1 &W 4
128| B FEAREFHA [EBRBYLSIE ﬁ‘*(xﬁ)IE(Eﬁﬁ*‘J%) ol — gt AT=E| 2013/11/26 10,244,850 9,658,950 94.28 |B/#EE% (%) |01 BRN 3
129| B LB ERFEFAT ERBYLONE MEB) TS (%) |02 X TE 2013/11/27 8,683,500 8,662,500 99.75 |H{EEHZ(¥K) |01. BN 1
130| ERE X AEHE [BhAR(EEX I E GG [or — st AT=E| 2013/11/27] 479,034,000 464,400,000] 96.94 [FEAEEGE) 01 BN 1
1BILWhE=ER=RFm|[EEERREARETE (HET) oo —mwtAxT=| 2013/11/28 14,700,000 14437500 9821 (M) EZLEITE [01.ERN 2
132|/hersmpnsnm | BEHMBFEETE GIARIEM) o —#+tAkTE| 2013/11/28 3,801,000 3,645,600 95.91 [&EB/IL—rEZ M) [01 BN 3
133 narmreaEnm [ BREHEESE T E (HEM) 0o —ftAT=E[ 2013/11/28 11,823,000 11,728,500 99.20 |[(F)FH#E®% |01 BN 2
134| B @R EHA LEREY S BEONE) TEEHEME)|02 HETH 2013/11/29 28,875,000 26,126,310[ 9048 |(#R)IEIEEE  |01L.BA 7
135| B @R EHA LEREY S BEOhE) TEEHEME)|02 HETH 2013/11/29 26,505,150 23,992,500 90.52 |{HRFNEZ () |01 BA 7
136| BB (£ RERRIRETEGER) 0o —fEtAT=E[ 2013/11/29 9,658,950 9,355,500] 96.85 |JtiEE% (¥k) 01 &l 1
137| B b ZENEFEFT [hEMAsXIEERER TS (RENE) (02 4T E 2013/12/02 10,229,100 10,080,000] 98.54 |=F1T % (¥k) 01 &R 1
138| B )I| T KRBT [EIRIBY LS Ghis) TH (KB&HE) o1 — st ATHE| 2013/12/02 10,118,850 9,996,000( 98.78 |B)EEEZRITX|01.ERA 1
139 B EREHim [EEXEEEIEULKIEIELE) [sesmezsmzs | 2013/12/02 10,557,750 10,500,000] 99.45 [ILEZBEITE G [01 BER 1
140(FE BB EIEFT [ERBYLSHE R TS @Ghsan) (02 HETE 2013/12/02 19,856,550 18,900,000| 95.18 [/MNFFEEER (%) |01 BN 1
141[FEMEBZEIEFT [ERBYLSHE R TS @GhEan) (02 HETE 2013/12/02 19,856,550 18,900,000] 95.18 [/MNFFEEER (#R) |01 EWN 1
142 BB 75 [ERBYLSBER GO TE (EHE) (02455 TF | 2013/12/03 17,340,750 15,742,650] 90.78 | (k%) $H#& 02 3B MA 8
143[ZBB N REFH AN () TE GERERE) o1 —fig+tAT=| 2013/12/03 11,298,000 11,235,000] 99.44 |BAZ E EHE) 01 B 1
144| EFiE R B8 [ERIBY LSEE Ghy) T (GEme) (02 2 TE [ 2013/12/03 24,184,650 22,161,720| 91.63 |(¥R)IRiFEEE  [03 BN 2
145|FL R E=mm i ERHETETIS (ERET) |loo—mwtAT=E| 2013/12/03 11,910,150 11,655,000 97.85 |EEEZHE) [0 ERA 1
ERCEREEEX TN @Bﬁ(s*cﬁ(ﬁﬁ))l%(imm) 01l —#+AT=[ 2013/12/04 28,486,500 28,350,000 99.52 [ (#) B3 ithfA 01 &R 1
147 B AL BB FEE [ERBYLSERE ) THE (G [02 45 TE | 2013/12/04 24,475,500 24,465,000| 99.95 |FABEEEZE (BR) [0z BzsEm 1
148| WV SR B IEAT E:ﬁ{i%&%I%(EJII%EF%) 03EFETE 2013/12/04 10,993,500 10,920,000] 99.33 | (¥k) = I&#R 01BN 1
149|WVhE RS ERF |EEEERETE (HLBS5~7EF4EN) [emsmntsmzs | 2013/12/04 27,709,500 27,300,000] 98.52 |BEHEEER T 3 (%) |02 Biz3Em 2
150| ME X AEHE AIEEEEEEIEZMRET) |0 —#tAT=| 2013/12/04 4,404,750 4,305,000] 97.73 [(BR)HZEEHR [01LEA 1
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151 |gikeryreassm | A LAMBEEISE (BHEE) 01 —fig+AT=E| 2013/12/04 19,338,900 17,910,900] 92.61 {2 /L—rEZ () [01 BR 2
152| ST AEFHAT EBRIBYLSEE (BE) IECGERKER) |01 — @t ATHE| 2013/12/04 94,069,500 93,975,000 99.89 |H Fr =% (#k) 01 &M 1
153/ iR ERREnm [ FERRARETE GLARLEM [0l —BtATE| 2013/12/05 8,736,000 8,095,500 92.66 [(H)MLtiE 01 W 3
154| B2 E ST [(ERIBY LS8 (R44) TEGERHE) (02 LT E 2013/12/06 19,799,850 19.425000] 98.10 [=xtiE ) BLXiE 01 &N 2
1558 T AREIEFT [ERIBY LS8 (R44) TE (S@EMHE) (02 L TE 2013/12/06 18,474,750 18,427,500 99.74 |(#K)EEEE |03 ERN 4
156| =F T AREBIEFT [ERIBY O (REX) T (@EMEE) (02 FHRETE 2013/12/09 18,211,200 16,569,000f 90.98 |+ T FE#k) 01 &N 6
157|=F T AEEFT EBREYOSEE (FE) TECKERR) o xmunET=]| 2013/12/09 6,512,100 5,987,100 91.93 ()t 32— |01.ERA 2
158 BB L AREHM | AFTEBREANETEGEAKTI) o —B+ARTE| 2013/12/09 7,079,100 6,604,500] 93.29 |FxEEHF (k) 01 &N 1
159|#iE T AREFEFT EBREY LSBE GEM) T (G (02 SHETE 2013/12/09 17,049,900 15,592,500] 91.45 |BEEEHRITE G [01 BN 2
160/ IO T AREFEFT EBREYOSBE (FE) TECKERR) [or —@tKkTE]| 2013/12/09 23,126,250 22,995000( 9943 |(MR)EEEIFHA |01 AN 1
161[HEBGERRERA [EE#BESETE GERAD [0l —MKtATE| 2013/12/09 16,620,450 16,485,000 99.18 [/MNEFEEER (3%) |01 BN 1
162(HBGEREFE [)EEH#EEET S M RRAD [0l —#tATE| 2013/12/09 16,620,450 16,485,000] 99.18 [/NEREEER (%% 01 BEWN 1
163 ARERBIFA |EEFEBRIUWETE (HEME) (02 8#ETE [ 2013/12/09 12,891,900 12,600,000 97.73 /MNEFEEER (%) |01 BHN 1
164| B bR EFT |BEEXEEETE FAKERE-5£=53) [smsmweants | 2013/12/10 8,153,250 7,560,000( 92.72 [(#R) ILTT¥FT |01 A 3
165 Eh R EE [EEdERETE (ERME Byt (s ESRHHETE| 2013/12/10 23,957,850 22,050,000 92.03 |HhEFET (%) |01. BN 1
166| G JI| T AREFEFT |EBREY LS hiF) TH GERER) (o1 — @+ ATE| 2013/12/10 10,490,550 9,933,000 94.68 [lBELHEBLELR |01 R 3
167|c2ENEREBm | EEXEE IEI%(,%{[:#EEMP‘) s EAEEERHTE | 2013/12/10 6,237,000 6,132,000 98.31 [&:2H X (¥k) 01 EW 4
168| &2 EMBRER £ FEBRE Eﬂzil$(ﬁ7—ﬁﬁ 02 EH3ETE 2013/12/10 4,543,350 4,181,205 92.02 |(R)HEIESM4> |01 BAH 9
169[ IO+ REFHEF [ERBYLORE (BB ITEGE 02_§$é§1$ 2013/12/10 8,303,400 8,137,500 98.00 [lLEEZH) [01EBRW 1
170|f2 BT BEHE BT LR (R ﬁ)I$(AIz§E§) 01 —fg+AT=E| 2013/12/10 22,543,500 20,580,000 91.29 |BBILIEEER(#E) 01 &N 4
1M|EELRZ=HE BEEFEEEIEZEAHR) s EAEmERHIS | 2013/12/11 14,343,000 14,175,000 98.82 [f2EH X (#) 01 ER 1
172| BB EEe |BEEdERETIECEm) 10 x@muETE| 2013/12/11 5,250,000 5,134,500] 97.80 EEIZM&E(*%) 01 &R 3
173|RiemmThamssnsm | Ris FKEEE (X IE 4 BESRHRBIE| 2013/12/11 7,638,750 7,018,200 91.87 [(¥) &S 01 W 1
174| B @R EFA LEREY S BEONE) TEEHEME)|02 HETH 2013/12/13 24,446,100 22437030 91.78 [(¥R) 2 EE |2 mzsew 2
175| BB EREHA EREY LS BBE M I EGEME)|02 HETE 2013/12/13 26,878,950 24374490 90.68 [(¥k) 12 2L |2 mzseEw 4
176 ELFESEHM[ETERRINETE (GEHE) (2 5ETE 2013/12/13 17,951,850 16,283,400] 90.70 | =3 ER% (Bk)  [oomsmsem| 19
177/ BB E%m (REEGTEEBTIE(SKEEH) [smsmezsmzs | 2013/12/16 7,570,500 7,507,500 99.16 |() =iEHET £/ |01 B 3
178 =F X ARFEFHE [ IEGER) 0l —#+AT=E| 2013/12/16 6,154,050 5,985,000 97.25 () ABITZ 01.EWN 1
179| B @R EHA LEREY S BEhE) TEEHEME)|02 HETH 2013/12/16 28,763,700 28,350,000( 9856 |EEHIE M) [|01.BR 1
1802 X ARFEFEFT [ (B MH) T GHERE) 01—+t AT=| 2013/12/16 15,727,950 15,529,500 98.73 |(#p) XZt#E |01 BN 1
181 | EERERmAIIEERE (BB) TEEERT) o —Bt+tARTE| 2013/12/16 6,424,950 6,195,000 96.42 |)I| & E & 01 B 1
182|EM EAREFHRA [ERBYLOIRE (BE)ITSE(FHE) 02 54ETE 2013/12/16 40,878,000 40,500,000{ 99.07 |AFEEZGFE) 01L.EMA 1
183| & BN B RERT 5EIJII(3'EN)I$(11H’)|3%£H) ol —fgtATE| 2013/12/17 8,211,000 7,783,440 94.79 |(A) KMEBITX|01.BR 3
184|&zE @ =5 31| (35 {F) T (M ERED o1 —fgtATE| 2013/12/17 3,747,450 3,450,510] 92.07 [(H) KMEHRITX|01.EN 3
185|ZES AT ERBYLOEMR (M) TE (G |02 TS 2013/12/17 13,170,150 11,968,740| 90.87 |FHIL X AR (#R)  [oeBsseEm| 16
186|EZ FERERM|AEEFERRERETE (G #ﬁ{#) 02 SHIETE 2013/12/17 19,913,250 18,070,500] 90.74 [;TTE32E% (% 01.EWN 10
187|ILA T AEFEFT EBREYLOSHE (HE) TEEGHEME) (02 HETE 2013/12/17 7,883,400 7,770,000| 98.56 |LLI 2 % (¥ 01LEN 1
188/ R ERREEF [RIIREMEIREE TE (WIS 4 gmmIE| 2013/12/17 13,891,500 13,650,000 98.26 %ﬁ;a%(ie:) 01.EWN 1
189\ EMEtAREH A FEREERETE (GEM) 01 —fg+tAkT=| 2013/12/17 10,080,000 9,765,000( 96.87 |FAAREZ (k) 01 EW 1
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190|EMAEAREHEF [ERBEYOSH#HE ERND IEGS) 02 54X TE 2013/12/17 7,229,250 6,667,395] 92.22 *ngzgz(ﬁe) 02 BHESEMN 2
191 BB EHEm [ERERRSRETE FE 02 $fET=H 2013/12/18 27,006,000 26,985,000( 99.92 [FR{EEZGE) |01.BRN 1
192 QJEE:I:K%*FE EREBY LSS (X4 TE GRgEH#) 04 ERHHETIE]| 2013/12/18 5,176,500 5,145,000] 99.39 |[#£)IIEE I%(H&) 01L.EMA 2
193| B EERFEHFAT DERBYLOSERE G IE EHE) o —B+ARTE| 2013/12/19 23,142,000 23,100,000 99.81 [f@Er % (%) 01 &N 1
194| B EREH |EEFTECTETIE (E/KEEH) |omsmmanmrs [ 2013/12/19 6,804,000 6,699,000 9845 |[EEHkE(#E) |01.EAH 2
195 E::EE&%%%FE EBREYLSRE (BB T= (EHRR) [sBERgTE| 2013/12/19 17,902,500 16,726,500] 93.43 |[=kREH (¥k)  [oomsaen 6
196| B bEEERFEFHA ERBYOOHE(RHF) IS (BEH) 4 EREHIE| 2013/12/19 27,006,000 24,150,000 89.42 [(#K)ZBmEER |01 BRA 3
197( BB S5 (£ RERRSURETISE (HE) 02 fHiETE 2013/12/19 29,494,500 29,400,000 99.67 |ZHE (4 01 &R 4
198|IE L B RFEFAr ERBYLSHE (EF) T (EHRKR) [158ERBITE| 2013/12/19 17,913,000 16,653,000] 92.96 |= K EEH (#k 02 BHEIEN 6
199|IE LB RFEFAr ERBYLSHE(EF) T (EHRKR) [158ERBITE| 2013/12/19 17,892,000 16,548,000] 92.48 |= RKEEH (¥ 02 BHEIEMN 7
200|Lvh =2 =75 [ FEABRRANET S HEMRAD) ot — 8+ ATHE| 2013/12/19 9,215,850 9,030,000, 97.98 | (#)ET ¥ 01 &N 2
201 | Vvh =2 =5 [EFEABRRANETSE EMRAD) ot —8+ATHE|[ 2013/12/19 9,656,850 9,103,500 94.26 [(H)# 1§ 01 &N 2
202[wIkryogEsnm |4 LHBEEBETISE @MY —) [48mEEISE]| 2013/12/19 11,826,150 11.445000] 96.77 [# =z o=7y>5 [01 BN 1
203| B m R ER B PR 'J‘Bﬁ(seﬁ(ﬁﬁ))l$(37k) 0 —fgtAT=E| 2013/12/20 5,852,000 5,775,000 98.68 |(#%) RHEE |01.ERN 1
04| B ER |EEERRARETIEGE 0l —#+AT=|[ 2013/12/20 4,891,950 4525500 9250 {EJIIEZ (%) |01 BRN 1
205| B R EISAT [ERBYLSE 1#(%##)1%(%4*%%1%) 02 SHIEETE 2013/12/20 16,416,750 15,015,000 91.46 |[BEHEZTE ) |01 BN 2
206| B REREAT DEREYIOBREEE)IEFGEE |2 HETE 2013/12/20 18,855,900 17,157,000 90.99 |EHEZTE () |01 BN 6
207| L RESm [ SR ASNBBEIE(BEERER) [03 BETE 2013/12/20 5,586,000 5,460,000 97.74 |EFERIEX ) [01.BR 3
208|LVhEEREEA (BRI ELARERTE GRS EEHE) [owsmasants | 2013/12/20 10,741,500 10,710,000 99.70 [ (#k) LLIEEEE |01 BW 1
20| RIREEREFHA I (R4 ITEGER) ol —ftAT=E[ 2013/12/24 11,637,150 11,550,000] 99.25 | (%) :m B fH 01 EW 1
210288 | AEHR [ EFEBRREARETSE (HKIH) ot —@+AT=E| 2013/12/24 11,789,400 11,025,000] 93.51 (%) 5= % 01 &R 1
ANEEF - EEL i ﬁﬁ%ﬁt)m%ﬁﬁ(t@%)l%(ﬁﬁ L) (02 852 TE | 2013/12/24 24,650,850 22,401,645 90.87 (TR TE ) |o2mmaan| 17
212| B bEEREA I$(-1-\/7E¥J?) s EAREERHTE | 2013/12/25 6,814,500 6,720,000 98.61 [a/\vH R (#k) |01 R 2
213/ M8 T REFEFR 7IJII(3¢H)I$(1E WEEE) 01l —#+AT=E| 2013/12/25 8,916,600 8,177,400( 91.70 [EmFEHZ () |01.EAH 4
214|iE T AREFFT [ EBREYOSHEB (KB) TH (R (o —w+tAxTE]| 2013/12/25 10,015,950 9,975,000 99.59 [#k)IIEH# TE (4) |01 B 1
215|832 ENEREHER ¥ LHBESIEIE (BEERE) 04 BREWIE| 2013/12/25 3,639,300 3,286,500 90.30 [BREHRI X ) |01.EA 1
216|22ENERERET | EEFERETSE (NERE) 03 FETEH 2013/12/25 28,671,300 27,699,000/ 96.60 [FALETE () |01 BN 1
217|BAEEEREA DERIBY LS ﬁ‘*(scﬁ):t$(eﬂza> 01—+t AT=| 2013/12/26 28,350,000 28,224,000 99.55 | (#R) FRJIIAH |01 BN 1
218| BB EHA |EEEBREARETSE (G 02855 TE | 2013/12/26 29,473,500 26,754,000( 90.77 |EHERITE () |[01.BR 5
219 SRR (£ R ARRANETE (B *HHI) 01 —figtAT=| 2013/12/27 5,483,100 5,050,500 92.11 [hBEZE (%) 01 &N 2
lgﬁ’e#ﬁ—ﬂﬁﬁﬁ%)&#.(#@é?%ﬁﬁ!) R T e o e %@ﬁ%ﬁ%i&gl
R £7 }:HE ﬁ = )Jjgl“ "%1'” ?é $ =% Eﬁ =N

g | FERH THA THEER | BR | moom | Gam) | e | PEEER "o |z
1|&zEngsEnm EREY LS8 X ITE(ERtRE o —tAT=E]| 2013/10/01] 217,631,400] 213,675,000/ 98.18 [Eidt+ K (¥%k) [01 BR 1

2| ENRRERT [EREY SSBM (M) TE CERHR) [0 —#tATE| 2013/10/01 67,137,000 66,780,000( 99.46 | KFIEZT X (%) |01 BR 1
B chiE N EIRAT |awcnws @ urmnserms meimsmen) 01—+ AKT=E| 2013/10/02 96,069,750 88,200,000/ 91.80 [(#k) H B> 01 &N 2
4| BEFEREHE NN IEGER) 0l —figtATE| 2013/10/02 69,560,400 68,775,000] 98.87 |(¥k)ZEF#H 01 ER 1
Sl&i BN BT [EREY SSBME ChEE) TS (WEME) |02 % TSE | 2013/10/02 28,640,850 24,971,100| 87.18 |(¥k)IRiFiEE  [03 BN 7
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6|REEMEREEM [ERBYLOBBECE) TEBHE) o1 —#+ARTE| 2013/10/02 17,889,900 15,855,000 88.62 |(#k)Hir+3E [01LERA 4
T&EEnEREnm [BREYSEER M IBCEERE) [13HETE | 2013/10/02] 47,340,300 46,725,000 98.70 [BE&mTKESE (K [01 BN 2
8l|LVHh =R EREY LSRR (BE) TE (MEMR) jon —8+tATE| 2013/10/02 68,617,500 67,935,000( 99.00 [(R)7k=vY |01.EBHAH 1
o|B iR EEAT [EBRBYOHBEEIHIEGER) [o1 —+tkTE]| 2013/10/03] 125842500 123,375,000] 98.03 [/ k£ AR(#k) 01L.EMA 1
10[MiE T AREHET [BREBEY LOS5H#EF M) TECEET) o EmuETE]| 2013/10/03 7,997,850 7.350,000] 91.89 @ u—v—rtzE8 |01 R 3
ESEEREEFPNIGMM IEFEERT) 01 —fg+AT=E| 2013/10/03 41,937,000 41,475,000 98.89 [A KT (%) 01BN 1
12| B R E B [EREY HSBBEMIEGBHE)|or —mtATE] 2013/10/04 70,941,150 70,192,500 98.94 |(3)F*a— 01 &R 3
13|&izEnEsEnm [ERIBY LS8 XT) TECERKE) o —+tATE| 2013/10/04] 79,378,950 70,350,000] 8862 [&£:ZF+E ) [01ERN 3
14|EEESERAPERBYLOSER (XM IEEHET) |02 HETE 2013/10/04 42,840,000 42,000,000 98.03 [t2rAEEE% (#k) 01 &N 1
15| B h BT IR [ewmsemcm rsmnan tepue suresmmaen [01 —f+ ATHE|[ 2013/10/07 80,147,550 69,615,000] 86.85 |HE#E% (¥%) [01 BEW 1
16| &2 EMBREHEN ERIBY LS ERE ME) T= GHEMT) [0t —&+AT=] 2013/10/07 45,229,800 39,385,500 87.07 |(#f) &1+ |01 BRN 5
17|&EEnEREnmm DERIBY LSBME i) TE E2418) oo —mtAT=[ 2013/10/07 15,084,300 13,387,500] 88.75 | (#) #& LR 01BN 3
18 EE:EE&%%FE EIEY £SH (5T TH (RERHE) MBS BLH B FREATRA) 02_§ﬁ§§1$ 2013/10/08 19,295,850 16,947,000 87.82 /Aﬁi*(ﬁ) 1_%W 2
19| B chiZ R B IR [smoenswntsmens-snene mursrmensazen (02 SHEE T 2 2013/10/08 18,786,600 16,590,000f 88.30 |[=x+EGREBILZE|01 BA 2
20| i E R BT EREY S8 ) TE B RHE) [0 —g+AxT=E] 2013/10/08 43,632,750 41,475,000] 95.05 | (3) L E TR (01 B 1
21|/ sEE R RS L (E) TEGR—Fo+—I®B) [0 —##+ARAT=E| 2013/10/08 37,716,000 37,695,000] 99.94 | (#k) = 5£H 01 BN 1
2|ENEBRER EREYIOSBEERMIZGER) oo —#+tAxT=[ 2013/10/09] 47,586,000 46,515,000( 97.74 [{BFE R () 01 &R 1
23| E B EREEFRFR [smmvoms@n T e mizeann pusamm=wenn) |04 BRBE TS 2013/10/09 35,164,500 32.655,000] 92.86 | AFEEER (#k) 01 BN 5
24| B h B ERE TR [mmvosmnvem to s mwuams sumammesen [02 SHETH | 2013/10/09 29,631,000 25,914,000 87.45 |FBRIEEF T X (%) |01 BER 3
25| SR B AT [HIRRGhE TH(EH) 0l —fg+AT=E[ 2013/10/09 38,182,200 37,695,000 98.72 [(#R)EHAREE 01 &R 1
26| & E RN BB EEHEU&D%T@&,E)I%(%%%I 02 &% TE | 2013/10/09 14,718,900 12,880,245 87.50 [TJIEHTZ G |01 B 7
21| EZ HEREHA|OSLLEKYHETECGERER) oo —#®+tKkT=E[ 2013/10/09 17,952,900 15,864,450] 88.36 | REZE (K& [01 BN 3
28| BN EAREHE [PFAMER T S GEm) 10 EmMETE| 2013/10/10] 24,727,500 22,399,650 90.58 [(¥f)2EHE 01 &R 3
20|&iEmERERy | EEAERET S (S ERE) 03 FETEH 2013/10/10 34,956,600 31,489,500 90.08 | RAEZ (k) |01 BRA 2
0[S EMERRBR iEﬁ%#%UﬁEﬂzE(B&E)I%GEE%E&%) 0l —#+AT=[ 2013/10/10 11,377,800 10,395,000 91.36 [FEEFT X (%) |01 ER 3
S| Eh BB [rvmmmesswnmzscmmumseansy smsmsennen [15 BEHZBTE] 2013/10/11]  123,278,400] 116,287,500 94.32 [=+iE (%) E& %4 |04 B4} 1
R ELHEREBM d‘Bﬁ(xﬁ(ﬁ@))I%(Bﬁé#ﬂH) o1 —fgtATE| 2013/10/11 31,144,050 27,117,300] 87.07 [REEEHZTE ) [01 BN 2
B EZHEREHEM[FL XM IECGERIEHR) ol —fgtATE| 2013/10/11 40,012,350 35,647,500] 89.09 [(#k) &EEE [01 BW 6
M NELKREHF ﬁﬁ%ﬁt)m%ﬁﬁ(.ﬁ@l%(ﬁﬁ EH1E) (02 45 TFE | 2013/10/11 35,769,300 31,972,500 89.38 [(#k) £ [01 BW 3
35| B R B RSP [HRR(th ) T S (FhE 09 BETE | 2013/10/15 76,443,150 75,600,000( 98.89 |G EH AR EH 01 ERN 1
36|12 £ REHF E%#%U;o ﬁ*(ﬁ%ﬁ)l%(ﬁﬁ EiE) |02 S8 TE | 2013/10/15 35,032,200 30,648,975 87.48 [ERER R |01L.BA 3
7| EMENER [EREYLSEE (BE) T (MEMR) o — 8+ ATHE| 2013/10/15] 49,126,350 46,620,000] 94.89 | (%) ET#Fr [01 BN 2
38| AEREERF A i1l (3 44) T (BR{FE ) 01 —#g+tAT=| 2013/10/15 36,876,000 36,750,000 99.65 [(F)=#k#A 01L.EMA 1
9|EEREHRA |EEFENEIE(LUTHEEMW) |omsmmeznzs [ 2013/10/16 37,810,500 36,540,000] 96.63 [(H)=EHRB T £/ [01 BN 4
40| B EREHF |EEFEERETIHF(UTEESE) [033BFETE | 2013/10/16 97,419,000 96,495,000( 99.05 |EEEEZITEH#)|01 BER 1
MN|EEREHF | EEEERETFCEERKK) s EARMEEETE | 2013/10/16 38,829,000 36,960,000( 95.18 |& B &) 01.EWN 5
A2| B hiZ R EIEFT [smmvomncn s @anomuzns sammsaxesmen |01 —f8+ AKT=E| 2013/10/16 47,429 550 45,150,000 95.19 [(#R) HHLY 01 &R 2
A3 B hEBEREFEAT [swmewncem namsmn manenn surmsmseranenm [02 SHHEETHE | 2013/10/16 23,779,350 20915,895| 87.95 |=it@#) BLXE |01 &N 2
44| B h BN EFEAT [serencnnrsmmne iepus sursr-Teen [02 SR TE | 2013/10/16 20,806,800 18,291,000] 87.90 [BFIEHTZ G |01 BER 4
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A5|WVhEERERAF [ HENTFLHETE (WVhERERE) (03 BETE 2013/10/16 44,488,500 44,415,000{ 99.83 |(#R)mnih#nfh |01 BAH 1
A6|EkRy LeEeEEm A L (3T TH (FIENIESE) |sa@ERETE| 2013/10/16) 119,016,000 115,020,000 96.64 |= 1@ (#k) 04_E 4} 1
A7|\FERE BT [EREY LSBIE ) TEWBREE) ot —g+AT=| 2013/10/17 32,707,500 31,395,000 95.98 |AK T (%) 01BN 1
A8 PR ERZEFEFr S (B3 f4) TE (B EER) o7pciEr®mIE| 2013/10/21] 122,430,000] 106,680,000] 87.13 [(¥k) FR< w4 |oomizaem 6
49| B ch 2R EBFERT |essaee rsmsn e snpsnaxersmen 01—+ ATHE| 2013/10/22 37,808,400 36,729,000] 9714 |(¥k) EEEH 01 BN 1
50| B)IlEREHA |FBAEER TE GEm) 10 EEMETE] 2013/10/22 25,100,250 24,675,000( 98.30 |(B)EEBUVT7SM4X|01.ERN 1
51| EmEREnm EREY OSERES) IR EANE) o1 —B+tAT=E] 2013/10/22 17,537,100 15,519,000 88.49 [BE/#@EHITZ ) [01 BERN 3
521=E L FEEREIET | EREY LS (E) TEGERKER) [or —g+AT=E| 2013/10/22 79,411,500 69,300,000 87.26 [BRNEZRTE (%) |01 R 2
53| BALERERA | FEE)IH(ZALR) o1 —fgtATE| 2013/10/23 39,942,000 39,900,000 99.89 [(¥)FI4E)II%A 01 BN 1
54| =F T AREFERT EBRBYLOSER (BE) TE(KEHR) ot —+ATHE| 2013/10/23 42 815,850 38,115,000 89.02 |= T (%) 01 &N 2
S| EEREXRM IR IEFEFEFET) ol —fgtATE| 2013/10/23 61,719,000 60,900,000( 98.67 [AXKIE () |01.EAH 1
56| RIEE REFAT DEREY LOMFOE) T EEE) (02 % TS [ 2013/10/24] 25,924,500 22,575,000] 87.07 [ZAEHGE) 01.BMA 3
57| EERERA DEREBYISOBBEMIEEE) (02 4% T [ 2013/10/24] 47,145,000 41,029800| 8702 |=£HEM) [01EBRW 1
58| R B EARA [T S IEEREE TS (FET) [0t —+tAkTHE| 2013/10/24] 171,465,000/ 171,150,000 99.81 |[(#k) 48 & T#EFr |01 B R 1
59|z EsEERERm |BEEBEE)IECHET) ol —fgtAT=| 2013/10/24] 194,523,000 194,250,000] 99.85 |LLAR T (k) 01 &M 1
60 EEJEE&%%FE HEEY LS B () THGEBRR) (Bifaso8 mNBERmAzuLrrmes) (01 —fR T KT ZE 2013/10/25 210,035,700 180,180,000] 85.78 |mmesTdr) BIEER O'I_%W 2
61| E B EREFRFT |ammvosmmem T anas @iteoss ArimTeem 01—t AT HE 2013/10/25 110,132,400 105,000,000 95.33 | (#k) BHHLY 01 BN 1
62| S ENERERAN | ERBYISERGE) I (EED) (02 5ETE 2013/10/25 96,667,200 83,580,000 86.46 BEAERT X () |01 BRN 5
63| ML EISAT [EREBY OB (BE) ITE (KEB) [or —m+kT=E| 2013/10/25] 287,490,000 285,600,000 99.34 [#&1LiE% (¥k) |01 B 1
64| FEMEBEEIEFT [EREY SBHE (R ) TE (ML) (02 SR TS 2013/10/25 42,126,000 40,950,000{ 97.20 |HILEFZ () |01 BAH 1
65[1R /B T REFFFT [[EBREY OSBBEHITEERHEE) o1 —g+tAxTE]| 2013/10/28 28,940,100 28,875,000 99.77 | KBMEIT E®H#)|01. BRN 1
66| IRE T REFHRFT [EBRBYOSBBEEIECERE) |0 —KB+ARTE| 2013/10/28 37,393,650 36,204,000 96.81 [(BR)FIEJII%A 01 &R 2
67| E b EZEEREFRRT [awmvsmmors 5 @anm usws arnisiasen 01—t ATE| 2013/11/01 32,159,400 31,500,000 97.94 |FHEER (¥k) 01 &R 1
68| = F X AREFRFT [EEABY LS ) TS (BUkiER) [or —fg+AxT=][ 2013/11/01 43,068,900 42945000 99.71 |BERERTI XK [01.BERN 1
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70| T REBFERR [EBREY LS8 X)) TEGRERHE) oo —wt+AT=|] 2013/11/01 32,611,950 32,445,000 99.48 |(#R)7F=vo  |01.ERA 2
T E R EEREIFFT [reecaersoeas s mmme guimgmen) (03 BETH 2013/11/05 63,040,950 62,475,000] 99.10 | R T Z (%) 01 & 1
72| B ch @ Eh & [reezasrsomas se mems susvansmsens (03 FEETE | 2013/11/05 47,360,250 47,250,000] 99.76 [FFEEZ @R [01EBA 1
73|[&iEENERERT [EREY LS BHE (X ) TECERHE) o —B+ATHE| 2013/11/05] 108,025,050 93,219,000( 86.29 [EAERTITE () |01 .BR 4
TA| Z AW REFERT EBRIBY LSBE (X ) TEHERHEE) ot —sg+AT=E]| 2013/11/06 49,255,500 49,224,000 9993 (M) EHFLE [01BR 1
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107 | S 2R B =I5 DERIEY S8R G TE (1B241) o —mtAxT=E| 2013/11/27 35,437,500 32,707,500 92.29 |(#)EBEIT#AT |01 B 1
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1108k sy LemEHmR | ¥ LMBSETIE (B%EF LCCTVEE) [15@ERBT=E] 2013/11/29 49,864,500 46,179,000] 92.60 [(#) hF+T> 04 B4} 1
11| EIER SRR [EBEY £S2E G TR WEREH) [o7PeErsT=| 2013/12/02 41,884,500 36,918,000] 88.14 [mEAarsu—+ )[04 B 4L 5
112(ELFEREHA [ X)) TE (EKH) 17 3SHIE [ 2013/12/04 39,949,350 38.010,000] 95.14 |mus—vosaomEaxeE |04 B4} 1
13| Bk S5 |BhARE (RH) TE B 0l —fg+ATE| 2013/12/05 37,138,500 36,750,000| 98.95 |(¥k) EFEER [01. BN 1
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120| B L 2R B FEAr ERBY £S5k (1) TH (BEARME) o4 BaHETE| 2013/12/16 44,658,000 40,284,000f 90.20 |(¥%)‘EmEX [01.BWN 5
121 BB R E 5% [ERiEY LS8 () TS5 SR [sa@EsmIs] 2013/12/17 83,084,400 76,572,000] 92.16 [(#f){EiEEER  [03 ER 5
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123|MARGEZREIFA (R (HBEE)) TE(EERT) |0 —#tATE[ 2013/12/19 68,397,000 68,250,000 99.78 [/MNEFEER (#%) |01.EBHA 1
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127 (MR (M (34 T (EEET) 01—+t AT=| 2013/12/20 18,459,000 18,165,000] 98.40 | (#k)EEB LA |01 BN 1
128|WVh EEREHRAT PERBYOSHB(EF)IETUET) o —@+ARTE| 2013/12/20 53,245,500 51,975,000 97.61 | (¥k) E0%H 01BN 1
129|LVhEEREIEAT [ EREY SR (EH) TS (@EEmeEn o —w+ATE| 2013/12/20] 267,732,000] 262,440,000] 98.02 | (4F) JE04H 01BN 1
130/ aEsERREEm [BE (X4 (BE)) IE (FE) ol —figtAT=| 2013/12/20] 145,572,000 144,900,000] 99.53 |f@:EAX—E:% (%) [01 BERA 1
131| &2 ENEREHM ERBYOSBBOHE) TECFET) [0 —RtATE[ 2013/12/25 25,023,600 22,464,000( 89.77 [TIIEBRI X () |01 .BR 5
132| & ENERERH [ ERIBY LSBME (X)) TECGERSKE) ot —BtATE| 2013/12/25 26,377,920 24,279480] 92.04 [k EE% (¥k) 01 &R 6
133| B L AREIEFR 'J‘[SH(;EBEDI%(,:E@ 10 EEMETSE| 2013/12/26 10,623,900 9,975,000] 93.89 [®wru—v—tz&[03 B[R 2
1342 £ RFEFFAr A (M) TE EERE) 01 —fg+AT=E| 2013/12/26 38,515,050 34,965,000 90.78 | (#k) LLA$H 01 &R 4
135|E FEAREHEA [ERBYOSBBEM IECEET) (09 RETE 2013/12/26 21,168,000 20,517,000 96.92 |(H)RJILA1EE |01.BRA 4
136 AL B TR [ERBYLSE ﬁ'*(xﬁ)l%(ﬁ,uﬁrs) o7pPciErE®IE| 2013/12/27] 115,020,000] 103,032,000] 89.57 [(#f) E—T X =2%][04 B4} 8
137| B chiB =I5 ERIBY LSEIE Ghis) TE (BR L H) o7 PcisLEiTE | 2013/12/27 64,386,360 63.936,000] 99.30 [fuzosnesmn aessn [02 BESEA 2
138 E 2R EIEfT [ERBEYOSBBEMIE(GERE)|02 HETE 2013/12/27 41,182,050 41,160,000] 99.94 [EHEZITEX W) [01BR 1
139 E 2R EE [ERBEYOSBBEMIE(GERE)|02 HETE 2013/12/27 21,434,700 21,210,000f 98.95 |[EEERITE () [01.BR 1
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0| HEEAZRREEM |BZHEEEIE(ER) 04 ESBETE| 2013/10/17 5,604,900 5,355,000 95.54 |[JEEERTX#E) |01.ERA 6
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150|LVvh =R E 75T [ O<KYRREE (M) TE EET) (02 4TS 2013/12/26 9,517,200 9,187,500 96.53 | (BR){&JIFRER o2 msssEm 8
151 |[WVhEB SR EHKR E:ﬁ{I%E&%I%(HEHEH@) 03 FETE | 2013/12/26 25,179,000 25,095,000 99.66 | (#) pn#uFOsE |01 BA 5
152/ &iesagsnsEnm |KEEIBIE (FEGHET) 02 EH3ETE 2013/12/26] 226,659,600] 208,440,000 91.96 | (#k) i D4H 01LEN 10
153/ aEszegEnm | KEEIBTE (BEISHET) 02 & TE | 2013/12/26] 283,392,000] 278,640,000] 98.32 [#@EAX—iE% (#) [01 BR 11

18




154 naiEszegEnm BEKESIR(EE) ITE(FE) o —mtAT=E] 2013/12/26] 254,102,400]  252,720,000] 99.45 [3E;TTZE (#%%) [01 R 1
155|=F T AEHm [EFEBRRANETEPAET) |oo—mwrtAT=E| 2013/12/27 10,012,800 9,870,000] 9857 [+ T E(#k) 01 W 5
156 #EMEBERER [AXKEEIBEE)TE G [or —mwtAT=E] 2013/12/27] 495,093,600] 491,400,000 99.25 [FEiLiEH (#k) [01 R 1
157[FEMEBEER [AXKEEBIBEE)TECHI) o —mtAT=E] 2013/12/27] 430,088,400] 426,600,000 99.18 [FALEEH (#k) [01 R 1
158|Lvh =@ EHm ER (XM (EE) TECHRKRT) |loo—mtAT=| 2013/12/27] 192,024,000f 191,160,000] 99.55 | (4k) hntthFO4E  [01 A 11
159|LVvh =@ (Bm AR EER () TS (B [or —m+AxT=| 2013/12/27] 191,160,000 190,080,000] 99.43 [¥E;T T % (%) 01 &EX 11
160[L =R =7 [ (344 (B1E) ) TFE (8Bh) ol —figtAT=| 2013/12/27] 155,412,000 154,440,000] 99.37 | (#k) hntthF04E  [01 BEA 11
161|WVhE B EEA |ERAEFERMBIEGER-/NE2) (o — @t KkTE| 2013/12/27 62,779,500 62,580,000 99.68 | (#k) = I&fH 01BN 9
162| R TAEREEE i FKBEMIEEE CERRGTRERE) TS [ mETE| 2013/12/27]  299,236,350) 298,200,000] 99.65 | (#) # = &iHAr |04 B4} 1
lgé#ﬁ—ﬂ&ﬁﬁ%)\*. e ET {%rsi)%ﬁ%%gi%}
R )] %;HE ﬁ = )Jjgl“ "§.~ ;g‘ $ == EH X 0

g | FERE TS TEE | /A | @oaom) | @am | (e | PREFEER "o |zu
1BERWLEEEM [(KXFE XN AR TOHIFNIE 14 Bk TE| 2013/10/01 6,178,200 6,090,000 98.57 |FRILHETE ) |01.ERN 1
I ERVHEEEM | ERERSBREBREENTISE 14 WMERETSE| 2013/11/26] 46,605,300 45675,000] 9800 =z c=7uos |01 R 1
LN EEERR ARG KERBZBIE 11 F-FhETE|] 2013/12/02 5,455,800 5,355,000 98.15 | (%) iEHBE% |01 BA 1
4l EEERT B K ENIEREE TS 11_k-FhETE| 2013/12/11 19,051,200 18,900,000 99.20 [ (k) #EEAF |01 BEX 1
A EEE S0 BRI KEUE ERRTE 1 _E-FhETE|] 2013/12/18 4,273,500 4,200,000f 98.28 |[fEEKXK—EHK () |01 BN 1
.EE%;%{J i |25 &AL {%i%ﬁig %55,]
R *7 %E ﬁ = )J:Ql“ "%1'» ;Jé-‘ $ == EH X i

g | FERE T THEEA | BB | moom | G | e | PEEER "o |z
EERWHEEEM |/NRAEAEBZKASREETIS 14#WMBHBIE| 2013/10/16 8,495,550 8,400,000] 98.87 |mmszs=rirv—rcanuazn |04 B 4} 1
e ERVOLEEEM |/NRAEEBRENTHRANBEIE |4 ERKEHBIE| 2013/10/23 4 461,450 4305000 96.49 [ =/7vrub=azm|01 BR 1

19




l%#ﬁ A& 55 S A £

GHEERE 1)

+ FEME [JNE2NEEE| BAER| - HAEXE|Ssm

2| mme THE THEH | ROB | waom | @mam | e | PREEE "o |=u
1| EEEEEEIR | GERESRT—/IVEBHEH TE [cesEwesnts | 2013/10/01 5,126,100 5,040,000] 98.32 [FE—RFT % (%) |01 BEX 5
2= AN EEER [Esrmussnar L BURTREEN kSHELSE (03 BETH 2013/10/07 7,661,850 7,560,000 98.67 [=rreman Esrazw |01 BN 9
BB )IEEZKR |BE)IBEZRITIVEETLS |owsswsants [ 2013/10/09 17,476,200 16,275,000 93.12 [(#R)EIT7ar [01. ERA 3
AHEESEFR R T7ARIANEEIS 03 BET=H 2013/10/25 2,543,100 2,394,000 9413 [(#) TRIT X 01 W 3
sINNEEZEER |IIEaRERIETE (18) 03 BET=E 2013/10/28 49,451,850 49,140,000] 99.36 [ HIRIHEIE [01BR 1
6| FEESFEFK $ﬁ%mh#’:‘($ﬁ)ﬂﬁ1 ERIETE |03 BETE 2013/10/28 28,625,100 28,245000( 98.67 |[JETITE () |01 W 1
NEZEEETR |[cEekmke B 1 PEE TE |03 BETSE 2013/10/31] 123,019,050 120,750,000 98.15 |#F#% &% (#k) 01 &BH 1
8 yi “%"?'s‘a REERERES AR E 1 (ES) TS |04 ESREITE| 2013/10/31 24,207,750 24,150,000( 99.76 |SMIERT X (#%) |03 ER 3
IRIEESETRK |cHcEkEREREESE 1 M) TE lomsentasts [ 2013/10/31 44,455,950 43,995,000| 98.96 [(#R) EHIXFr [01 A 2
10 K,i;,;#*.—,%qdf SEERERTHEREIE(EEL=RIY) (03 BETH 2013/11/06 44.633,400 40,950,000f 91.74 | ARERTE ) [01 BER 4
MKBEEEKR | KEEKMHEREGtEE28) T= (03 BETE 2013/11/07 40,226,550 37,590,000 93.44 (ARERTE %) |01 ER 3
12|&2 T XL [T 2esmERE BHEEH 1 IE|03 BETSE 2013/11/13 81,419,100 77,385,000 95.04 |[HERT X (%) |01 R 3
1BUIOEEZR  [oskks 1 gARgsETE (@Y (03 BETSE 2013/11/15] 139,084,050]  128,730,000] 92.55 [AK#NEEFZIT % (#%) [01 BR 2
140 E%ZR oEgss 1 gxARgsRET=(ER) |4 BSHETE]| 2013/11/15 75,272,400 67,620,000 89.83 | £FERIE|03 ER 4
150 E%EZR [NIDEEE2 1 PARESETE (K) |oesmecamncs | 2013/11/15 53,946,900 53,550,000] 99.26 |[ximEIEum2ExE|01 BN 3
16| BN ESEER [ EnmtamBEREIE Gtk 14) (03 BETE 2013/11/19 37,357,950 36,750,000( 98.37 |[KEHTETIT X@#)|01.ERA 2
17|[FEIESEER  |FRERARESE (. BE)IE |03 BETE 2013/12/24] 110,785,500] 109,725,000 99.04 | (#k) pn#hF04E |01 B R 1
18| iFEIEEZE |[IFRERARESE (18- ER)IE 4 BSEHISR| 2013/12/24 29,188,950 28,875,000 98.92 | KFIEXR T XH)|01.BEA 3
VFHESEFER  |IFHERAEESE 58 T [seseasgnts | 2013/12/24 29,125,950 28,875,000 99.13 [JLBIEZEFRAT£GE) |01 B R 2
.%Bﬁ%%ﬂ M | 22N &AL {%i%ﬁ%%%? :ﬁ;r;]
R E2)] %E ﬁ = )Jjg“‘ "%1'» ?é-‘ $ =3 EH =N

g | FERE T THEEA | BB | moom | G | e | PEEER "o |z
1|LWhEBESEFR |VheassnsEan @k T EnteEsssn) (03 BETH 2013/10/10 70,428,750 68,250,000] 96.90 |[(#k) = I&5£H 01 BN 9
I EEEEEER | aEEaRN I I L —LBREIE (3 BETIS 2013/10/22 4,998,000 4,935000] 98.73 [(BRH)HEIHE [01BR 5
RIES -6 BERTEMERAAAELEEIZEESE (3 BETS 2013/10/25 18,984,000 17,850,000] 94.02 [E&Ez@=LXE [04 B4} 1
AluhzEBosasei|VWhEEoERKESEIE REEH) IS |03 EFETE 2013/11/21] 368,751,960 361,800,000] 98.11 |F #&E % (4%) 01LEN 1
5lhbhEBEoHEEER|VHEBOHERKESIR HEER)IE |04 BEEHETE] 2013/11/21 39,968,640 36,720,000f 91.87 | KFIEHRT X () |01 BR 11
6lLbEBEOHEEER |VHEBOHSRKESIR ERR) TE lomsrntanTs [ 2013/11/21 30,648,240 30,456,000 99.37 |dtBEERZERT £ (%) |01 BR 9
NEESEFR | RESKHRFEINETS s EaEmERHIS | 2013/12/10 4,098,150 4,095,000 9992 |(B)RFETE |oomizsen 1
SIEREEXSEFIR | BHEEERKEEIHISE o1 —#g+tATE| 2013/12/27 7,646,100 7,623,000] 99.69 [ZL/\E8EE% (%) [01 BN 7

20




l%#ﬁ A& 55 S A £

J

(BEH  EEAE]

+ FEME [JNE2NEEE| BAER| - HAEXE|Ssm

2| mrmm THA THEEA | RME | maom | @R | (e | PERER o =
13 B HIER EEEEMBRI—19(WVhEhRIFMN TE 4 BERHETE| 2013/10/04 20,149,500 18,585,000] 92.23 |=HERIE () [01.ER 10
2|3 B IR HIER RRIEEHBBI—20GEEEFN ISH|0aESHRETE]| 2013/10/10 17,430,000 16,254,000] 93.25 [(#) > 2F LT /B85 [0 BzaEn 6
3|3 @RI ER RREEHBBI—21(EEEFEMN IH s ESHRETE]| 2013/10/10 12,293,400 11,634,000] 94.63 E*“‘“I%( ) fo2 ptzaeEm 5
4|3 @ FR I ER RBIEBHBEI—18(BILIFMN) TE |04 ERHHEIE]| 2013/10/21 9,524,550 8,610,000 90.39 | (#)E T *t 02 BHEIEMN 7
5|3 B iRl R BERERGEWLIEFEN1—6TE (09 BRETE 2013/10/25 5,807,550 5,355,000 92.20 (750')//\»{ 02 miEsEm| 12
6|3 @ FR il EE BB S EERATLENSS 4 —2uBTE 15 EERETE| 2013/10/30 28,049,700 27,300,000 97.32 | — 04 _IE 4} 1
713 @R HIER TBEEHMBBEI—22(BLIFN) ITE (04 BSEHETE| 2013/11/06 17,389,050 16,317,000] 93.83 (#%)*I*i 01 &BH 5
8|3 @ iRl ER B AR ERIEHRE@ELEN2-1TE |01 — @t ATE| 2013/11/11 11,114,250 10,290,000 9258 [dLtHASA> (%) [01 ERA 3
9|Zz @R &R SBE L AR M E R R-3TE [15 BIERBTE| 2013/11/14 91,485,450 83,370,000| 91.12 | m=a4rrrLaxE |04 B4} 4
10 i;_iﬁ‘,ﬁl]n% BB I B0 - R EERES4RETE |15 BIERETISE 2013/11/21 80,927,700 73,237,500 90.49 |3rEv@E®OELEZR |04 H 4} 5
11|38 #R il 53R RBESHEEI—23(LVhEhR)THE (4 BRREIE| 2013/11/22 12,828,900 11,916,450] 92.88 [Wh=BRI £ () [01 BN 6
12|38 #7 il 53R REESHBBEI—25(XEENIEFMNIE [04ABEEHIE] 2013/11/22 17,865,750 17,115,000] 95.79 |[LEREER (BF) |02 mizaEm 3
13|38 #R il 5 A BRI SEE (BLE,M6—2T% (01 — Bt ATE| 2013/11/22 3,782,100 3,654,000 96.61 |27 (¥k) 01 &M 4
14328 7 il 5R BRI E RSN E (B )IEN)6—3IE |01 —REATE| 2013/11/22 6,292,650 6,195,000] 98.44 |[fB&/L—rEX () |01 BN 3
15| 25158 FEEREFEAREREREISE 4 ESHRETE| 2013/11/25 26,549,250 25,095,000 9452 [(¥k) &S 01 &R 5
16| =&1E BLULERBAESFEEEARERERETSE (M BESRBETE| 2013/11/25 20,095,950 19,425,000| 96.66 |[LREER (k) 01BN 2
17|XEtE EZHEREFFAREBHERETE (4 BRH/BTE| 2013/11/25 26,080,950 24,255,000 92.99 |(¥k){EREER o2 BsizsEw 5
18| & &tE SRR TEREREAEEREREIE | BRHRHETE| 2013/11/25 21,596,400 19,929,000] 92.27 |(#%)1EEESR  [01. BN 5
19|%EtE AL CREFEAREHSRETE 4 ESBHTE| 2013/11/25 30,070,950 27,510,000 91.48 [EHRERTE (%) |01 BER 5
20(£ 515 AMNERZEERAXEREREIE vBERBTSE| 2013/11/29 26,268,900 24,255,000] 92.33 [EERERTE (%) |01 BER 3
21| &5t BNEREINGHFEERARERsxEIE M BSRBIE] 2013/11/29 24,793,650 22,921,500 9244 |EBRERIEG |01L.ERA 2
22| X @R il ER RBESHREI—24 HEIF/M) ITE (s ESRMETE]| 2013/11/29 14,122,500 13,965,000] 98.88 |RJIERI = () [01.BEX 4
23| X @ FR il ER REEEHKE3-26(LVHER)TE [ ESBBTE| 2013/12/02 4,027,800 3,732,750] 92.67 | sAEHE—m2 |01 BN 5
24|13 B IR FIER RABEEREBEI27(BBNEFN I=E|s BLZMBTS| 2013/12/03 15,990,450 15,225,000] 95.21 |(#%k) FREE+ [01 BN 5
25| 3 @ FR il ER *U;?#%EEAZES 28(f85tiF,) TE|oa BEHETE| 2013/12/03 9,816,450 9,550,800] 97.29 | (#k) HE 01 &N 1
26| 3 @ FR il ER REEEHEEI-29(BAIEMN) ITE 04 ESBBIE| 2013/12/04 5,326,650 5,014,800 94.14 [EEERIT X () |01 BXN 2
27| 32 58 #5 ill 2R BRER(FEE,)1-7TE |09 BETISE | 2013/12/04 5,616,450 5,260,500 93.66 [tfB&3 % (£r) |01 BN 5
28| B IR HIEE R R AR EREHRE (BR(30)2-3TH [01 — g+ ATH| 2013/12/04 7,037,100 6.982,500] 99.22 B3 (#§) 01 &M 1
29|32 @ FR I ER BB AR B (FE3A)6-5T% [0 — B+ ATHE[ 2013/12/04 6,529,950 6,048,000[ 9261 |(¥R)EIESA> |01 BN 3
30| £EHER *E%EZQ%%“B%E‘EEFE%@I% 03 Lﬁl% 2013/12/09] 43,357,650 41,895000] 96.62 |EFEHZ ) [01 KW 1
31|32 B Rl ER EHRERCEEIIIZM)1-8TF BETE 2013/12/12 18,726,750 17,288,250 9231 [BEZ = (#) |oommsem 8
32|32 B Rl ER 3&151:?*%&&3 0(LvhEhfR) TE 04 BEBEIE| 2013/12/13 16,629,900 15,645,000/ 94.07 ﬂua.&léﬁ(&) 01L.EMA 4
33| X @R il ER SEEHE S HE (ESHNTIER 4585 TS 15,85 TE| 2013/12/18 41,204,100 40,005,000f 97.08 |- - |04 1B 4} 1
34|32 B Rl ER ZRIEEHERBES-31(FEEIFMN) TE 4 BRRMWETE| 2013/12/20 17,446,800 16,485,000] 94.48 EJH ’—‘LI%@%) 01LEN 2
35| @ FR il ER ZRIEEHRBEI-33URZIFMN) TE o4 BRRMWETE| 2013/12/20 16,741,200 15,435,000] 9219 |(%) 7 HHEER [ooBzsen 2

21




(BEH  EEAE]

BEERZHN

& . + FEME [JNE2NEEE| BAER| - ER=E LA

g5 | FEHHE THE THEA | ROR | gaom) | @am | o0 | PERER | oy |am
HESRES WhERZEREEEBENSRAIE|03 BETE 2013/11/25 2,648,100 2,625,000 99.12 |(#R)EILT#EFr |01 BN 4
2 EER R iR BBt a— P REBHIETS (4 ELRETE| 2013/12/05 14,945,700 14,941,500] 99.97 [aratonxwmmussn |01 BR 1
3| @RI ER AR B RAZ R E (WE)6-4T = [o1 —ftATHE| 2013/12/17 14,779,800 14,700,000] 99.46 [{EEIL—FEZE (#) |2 miz3en 7

22




